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The Plan

• Australia – Tertiary Ed & Surveying Industry background

• Decreasing number of students (and academics) in the Geospatial programmes; 

• Post Covid wellbeing

• Artificial Intelligence in Education (proper usage or misuse);



Australia – Government & Governance

• Federal

– Unis State constituted

– Federally funded

– Courses demand driven

– 65% Govt / 35% Student

– Higher Education Contribution Scheme (HECS)

• Unis - Self-accrediting 

– TEQSA regulated

– Higher Education Standards Framework

• Surveying

– 8 programs
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Surveying Industry

• Private Sector

– Property Development (Cadastral)

– Construction & Engineering

– Mining
– Hydrographic & Photo 

• Government Sector (State & Fed)

– Geodesy

– Hydrograpic



Student Enrolments
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Industry – Institution Partnership

• Industry Outreach Campaigns

Vic

NSW

Qld

Qld



Touchpoints

• Web presence

• Major Career Expos

• High School Career Expos and Presentations

• Teacher Professional Development Days in Surveying

• Surveying School Holiday Experience

• Head start course

• Work Experience 

• UniSQ Future Surveyor Camp



Academic Staff

• UniSQ – 11 FT Surveying Academics

– 3 Staff 20+ years

– 3 Staff 15 – 20 years

– 3 Staff 5 – 15 years

– 2 Staff < 5 years

• Currency?



COVID Aftermath

• Financial Covid

– 32% FTE in Australia International

– % all revenue 14.7% (2004) – 24% (2019)

– 2019 Fed Budget ~17% reduction per student

• Personal Covid

– Dingle et al 2024
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How good is AI?

https://www.trackingai.org/home

Option B Justification: Each row and column exhibits distinct patterns for line direction, half-circle position, and 

shading. The line direction alternates (BL-TR, TL-BR, BL-TR), requiring a BL-TR line in the final square. The 

half-circle position pattern (one Top, two Bottoms per row/column) requires a Top position in the final square. The 

shading pattern (one Not shaded, one Stripes, one Black per row/column) requires Not shaded in the final 

square. Therefore, the missing square must be a diagonal line from bottom left to top right with a non-shaded 

half circle at the top end.

Thinking: Let me organize the grid to visualize the pattern better: Row 1: - Column 1: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. - Column 2: A diagonal line from top left to bottom right with a half circle at bottom end. The half circle is shaded in stripes. - Column 3: A diagonal line from bottom left to top right with a half circle at bottom end. The half circle is shaded in 
black. Row 2: - Column 1: A diagonal line from top left to bottom right with a half circle at bottom end. The half circle is shaded in black. - Column 2: A diagonal line from bottom left to top right with a half circle at bottom end. The half circle is not shaded. - Column 3: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in stripes. Row 3: - Column 1: A diagonal line from bottom left 

to top right with a half circle at bottom end. The half circle is shaded in stripes. - Column 2: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in black. - Column 3: This is what we need to determine. I'll look for patterns in different aspects: 1. Diagonal direction: - Row 1: bottom-left to top-right, top-left to bottom-right, bottom-left to top-right - Row 2: top-left to bottom-right, 

bottom-left to top-right, top-left to bottom-right - Row 3: bottom-left to top-right, top-left to bottom-right, ? Pattern: The diagonal direction alternates in each row and column. Given that Row 3, Column 2 has a diagonal from top-left to bottom-right, Column 3 should have a diagonal from bottom-left to top-right. 2. Half-circle position: - Row 1: top, bottom, bottom - Row 2: bottom, bottom, top - Row 3: bottom, top, ? I don't see a 

clear pattern for the half-circle position based on rows. Let me check columns. - Column 1: top, bottom, bottom - Column 2: bottom, bottom, top - Column 3: bottom, top, ? Still not seeing a clear pattern. Let me try to look at it as a 3x3 grid and see if there's a pattern across the entire grid. 3. Shading: - Row 1: not shaded, striped, black - Row 2: black, not shaded, striped - Row 3: striped, black, ? There seems to be a 

pattern here: not shaded → striped → black → not shaded → ... Looking at this pattern, if Row 3, Column 1 is striped and Column 2 is black, then Column 3 should be not shaded. Let me examine the options again: Option A: A diagonal line from top left to bottom right with a half circle at top end. The half circle is not shaded. Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is 

not shaded. Option C: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in stripes. Option D: A diagonal line from bottom left to top right with a half circle at top end. The half circle is shaded in black. Option E: A diagonal line from bottom left to top right with a half circle at top end. The half circle is shaded in stripes. Option F: A diagonal line from top left to bottom right with a 
half circle at bottom end. The half circle is not shaded. Based on the diagonal direction pattern, we want a diagonal from bottom-left to top-right. Based on the shading pattern, we want a half-circle that is not shaded. Options that have a diagonal from bottom-left to top-right are B, D, and E. Options that have a not shaded half-circle are A, B, and F. The intersection of these two sets is Option B: A diagonal line from bottom 

left to top right with a half circle at top end. The half circle is not shaded. However, we still need to determine if the half-circle should be at the top or bottom end. Let me look for a pattern in the half-circle positions again. Let me see if there's a pattern across the grid as a whole: 1. Row 1, Column 1: top 2. Row 1, Column 2: bottom 3. Row 1, Column 3: bottom 4. Row 2, Column 1: bottom 5. Row 2, Column 2: bottom 6. Row 

2, Column 3: top 7. Row 3, Column 1: bottom 8. Row 3, Column 2: top 9. Row 3, Column 3: ? I still don't see a clear pattern in the half-circle positions. Let me try a different approach. It could be that there's a relationship between the diagonal direction and the half-circle position. Let me check: - When the diagonal is from bottom-left to top-right, the half-circle is at the top in 2 cases and at the bottom in 3 cases. - When the 

diagonal is from top-left to bottom-right, the half-circle is at the top in 2 cases and at the bottom in 2 cases. Again, no clear pattern here. Let me try one more approach by looking at the relationship between the three aspects: 1. Diagonal direction 2. Half-circle position 3. Shading Let me reorganize the grid in terms of these three aspects: Row 1: - Column 1: Bottom-left to top-right, top, not shaded - Column 2: Top-left to 

bottom-right, bottom, striped - Column 3: Bottom-left to top-right, bottom, black Row 2: - Column 1: Top-left to bottom-right, bottom, black - Column 2: Bottom-left to top-right, bottom, not shaded - Column 3: Top-left to bottom-right, top, striped Row 3: - Column 1: Bottom-left to top-right, bottom, striped - Column 2: Top-left to bottom-right, top, black - Column 3: ? Now, let me look for patterns in the rows: Row 1: The 

diagonal direction alternates. The half-circle position is top, then bottom, then bottom. The shading goes from not shaded to striped to black. Row 2: The diagonal direction alternates. The half-circle position is bottom, then bottom, then top. The shading goes from black to not shaded to striped. Row 3: The diagonal direction alternates (so far). The half-circle position goes from bottom to top (so far). The shading goes from 
striped to black (so far). Based on these row patterns, for Row 3, Column 3, I would expect: - Diagonal direction: Bottom-left to top-right (alternating from Column 2) - Half-circle position: Possibly top (if there's a pattern like bottom, top, top for Row 3) - Shading: Possibly not shaded (if the shading follows the pattern striped → black → not shaded) Now, let me look for patterns in the columns: Column 1: The diagonal 

direction alternates. The half-circle position goes top, bottom, bottom. The shading goes not shaded, black, striped. Column 2: The diagonal direction alternates. The half-circle position goes bottom, bottom, top. The shading goes striped, not shaded, black. Column 3: The diagonal direction alternates (so far). The half-circle position goes bottom to top (so far). The shading goes black to striped (so far). Based on these 

column patterns, for Row 3, Column 3, I would expect: - Diagonal direction: Bottom-left to top-right (alternating from Row 3, Column 2) - Half-circle position: Possibly bottom (if there's a pattern like bottom, top, bottom for Column 3) - Shading: Possibly not shaded (if the shading follows the pattern black → striped → not shaded for Column 3) So, looking at both row and column patterns, the diagonal direction is consistently 

bottom-left to top-right for Row 3, Column 3. The half-circle position could be either top or bottom, and the shading is likely not shaded. Let me check the options again: Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. Option E: A diagonal line from bottom left to top right with a half circle at top end. The half circle is shaded in stripes. These are the only options 

with a diagonal from bottom-left to top-right and a half-circle at the top. Based on the shading pattern, I believe Option B is more likely to be correct as the half-circle should be not shaded. Option E has a striped half-circle, which doesn't align with the expected pattern. Let me just take one more approach: I notice that if you wrap around the grid, the pattern of shading seems to be not shaded → striped → black → not 

shaded → ... If we look at the entire grid in order (Row 1, Column 1; Row 1, Column 2; etc.), we have: 1. Not shaded 2. Striped 3. Black 4. Black 5. Not shaded 6. Striped 7. Striped 8. Black 9. ? Following this pattern, the 9th position should be 'Not shaded'. This aligns with Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. Wait, but I'm still not entirely sure about 
the half-circle position. In the grid, there are a total of 5 half-circles at the bottom and 3 at the top (before the last position). There doesn't seem to be a strict pattern there. Let me try one more time by focusing on the pattern in each row and column. Row 1: Bottom-left to top-right, top, not shaded | Top-left to bottom-right, bottom, striped | Bottom-left to top-right, bottom, black Row 2: Top-left to bottom-right, bottom, black | 

Bottom-left to top-right, bottom, not shaded | Top-left to bottom-right, top, striped Row 3: Bottom-left to top-right, bottom, striped | Top-left to bottom-right, top, black | ? Column 1: Bottom-left to top-right, top, not shaded | Top-left to bottom-right, bottom, black | Bottom-left to top-right, bottom, striped Column 2: Top-left to bottom-right, bottom, striped | Bottom-left to top-right, bottom, not shaded | Top-left to bottom-right, top, 

black Column 3: Bottom-left to top-right, bottom, black | Top-left to bottom-right, top, striped | ? For the diagonal direction, there's a clear alternating pattern in both rows and columns. For Row 3, Column 3, it should be a diagonal from bottom-left to top-right. For the half-circle position, it's less clear. But I notice that in Row 3, it goes from bottom to top so far, and in Column 3, it goes from bottom to top so far. This might 

suggest a top position for Row 3, Column 3. For the shading, there's a clear pattern in both rows and columns. In Row 3, it goes from striped to black so far, which suggests not shaded for the next one. In Column 3, it goes from black to striped so far, which also suggests not shaded for the next one. Combining these clues, I would expect Row 3, Column 3 to have a diagonal from bottom-left to top-right, with a half-circle at 

the top that is not shaded. This matches Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. Let me look at one more approach. Perhaps there's a pattern related to the position in the grid: Position (1,1): Diagonal bottom-left to top-right, half-circle at top, not shaded Position (1,2): Diagonal top-left to bottom-right, half-circle at bottom, striped Position (1,3): Diagonal 

bottom-left to top-right, half-circle at bottom, black Position (2,1): Diagonal top-left to bottom-right, half-circle at bottom, black Position (2,2): Diagonal bottom-left to top-right, half-circle at bottom, not shaded Position (2,3): Diagonal top-left to bottom-right, half-circle at top, striped Position (3,1): Diagonal bottom-left to top-right, half-circle at bottom, striped Position (3,2): Diagonal top-left to bottom-right, half-circle at top, black 
Position (3,3): ? I don't see any clear pattern based on the grid position. But the patterns in the rows and columns, especially for the diagonal direction and shading, point towards a diagonal from bottom-left to top-right with a not shaded half-circle. As for the half-circle position, it could be top or bottom, but based on the patterns in Row 3 and Column 3, it's more likely to be at the top. Actually, let me try to see if there's a 

pattern in the half-circle position based on both the position in the grid and the diagonal direction: Position (1,1): Bottom-left to top-right diagonal, half-circle at top Position (1,2): Top-left to bottom-right diagonal, half-circle at bottom Position (1,3): Bottom-left to top-right diagonal, half-circle at bottom Position (2,1): Top-left to bottom-right diagonal, half-circle at bottom Position (2,2): Bottom-left to top-right diagonal, half-circle 

at bottom Position (2,3): Top-left to bottom-right diagonal, half-circle at top Position (3,1): Bottom-left to top-right diagonal, half-circle at bottom Position (3,2): Top-left to bottom-right diagonal, half-circle at top Position (3,3): Bottom-left to top-right diagonal, half-circle at ? I'm still not seeing a clear pattern for the half-circle position based on the diagonal direction. However, it's interesting to note that for the top-left to bottom-

right diagonal, there are 2 half-circles at the top and 2 at the bottom. For the bottom-left to top-right diagonal, there are 1 at the top and 3 at the bottom. Wait, I think I'm missing something here. Let me re-evaluate each of the given options to ensure I'm considering the correct diagonal directionality: Option A: A diagonal line from top left to bottom right with a half circle at top end. The half circle is not shaded. Option B: A 

diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. Option C: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in stripes. Option D: A diagonal line from bottom left to top right with a half circle at top end. The half circle is shaded in black. Option E: A diagonal line from bottom left to top right with a half circle at top end. The half 

circle is shaded in stripes. Option F: A diagonal line from top left to bottom right with a half circle at bottom end. The half circle is not shaded. Let me try one more approach by focusing on the pattern in each row, column, and diagonal of the 3x3 grid. Let's visualize this in a more abstract way: Row 1: [D1/T/N] [D2/B/S] [D1/B/B] Row 2: [D2/B/B] [D1/B/N] [D2/T/S] Row 3: [D1/B/S] [D2/T/B] [?] Column 1: [D1/T/N] [D2/B/B] 
[D1/B/S] Column 2: [D2/B/S] [D1/B/N] [D2/T/B] Column 3: [D1/B/B] [D2/T/S] [?] Where: - D1: Diagonal from bottom-left to top-right - D2: Diagonal from top-left to bottom-right - T: Half-circle at top - B: Half-circle at bottom - N: Not shaded - S: Striped - B: Black Looking at this, I notice that if we rotate the grid 180 degrees, the pattern remains the same (with D1 becoming D2, T becoming B, and the shading remaining the 

same). For the diagonal direction, there's a clear alternating pattern in both rows and columns. For Row 3, Column 3, it should be D1 (diagonal from bottom-left to top-right). For the half-circle position, I'm noticing that in Row 1, the T's and B's follow a pattern of T→B→B. In Row 2, it's B→B→T. In Row 3, it's B→T→?. It could be T or B, but it feels like it should be T to follow the pattern. Actually I think a useful way to 

determine what's supposed to be filled in for row 3, column 3 is to see if you can represent the pattern as a function of the row and column position in the grid. That is, the pattern at position (i, j) is determined by some rule that's a function of i and j. Let's try to find a rule for each of the three aspects (diagonal direction, half-circle position, and shading) as a function of the row (i) and column (j): 1. Diagonal direction: - If (i + j) 

is odd, the diagonal is from top-left to bottom-right. - If (i + j) is even, the diagonal is from bottom-left to top-right. This matches our current grid. For position (3, 3), (i + j) = 6, which is even. So the diagonal should be from bottom-left to top-right. 2. Half-circle position: Let me try to find a pattern. We have: - Position (1, 1) (i + j = 2): Top - Position (1, 2) (i + j = 3): Bottom - Position (1, 3) (i + j = 4): Bottom - Position (2, 1) (i + j = 

3): Bottom - Position (2, 2) (i + j = 4): Bottom - Position (2, 3) (i + j = 5): Top - Position (3, 1) (i + j = 4): Bottom - Position (3, 2) (i + j = 5): Top - Position (3, 3) (i + j = 6): ? I don't see a clear pattern based on (i + j). Let me try (i * j): - Position (1, 1) (i * j = 1): Top - Position (1, 2) (i * j = 2): Bottom - Position (1, 3) (i * j = 3): Bottom - Position (2, 1) (i * j = 2): Bottom - Position (2, 2) (i * j = 4): Bottom - Position (2, 3) (i * j = 6): Top -

Position (3, 1) (i * j = 3): Bottom - Position (3, 2) (i * j = 6): Top - Position (3, 3) (i * j = 9): ? Still no clear pattern. Let me try (i ^ j) (i to the power of j): - Position (1, 1) (i ^ j = 1): Top - Position (1, 2) (i ^ j = 1): Bottom - Position (1, 3) (i ^ j = 1): Bottom - Position (2, 1) (i ^ j = 2): Bottom - Position (2, 2) (i ^ j = 4): Bottom - Position (2, 3) (i ^ j = 8): Top - Position (3, 1) (i ^ j = 3): Bottom - Position (3, 2) (i ^ j = 9): Top - Position (3, 3) 
(i ^ j = 27): ? I'm still not seeing a clear pattern for the half-circle position based on these functions. Let me try to look at the pattern in a different way. wait, maybe it's about parity of the total number of half circles at the top. So far, we have 3 half-circles at the top and 5 at the bottom. Perhaps in the complete grid, there should be 4 at the top and 5 at the bottom? But actually I see that there should be 4 top and 5 bottom if 

(3, 3) has top. So that doesn't seem to make sense. Actually, another insight: I wonder if there's a pattern where if you encounter a certain configuration in the grid, the next square has the opposite of the (3) aspect. Let's check: (1, 1) = D1, top, not-shaded, followed by (1, 2) = D2, bottom, striped (1, 2) = D2, bottom, striped, followed by (1, 3) = D1, bottom, black … (3, 1) = D1, bottom, striped, followed by (3, 2) = D2, top, 

black (3, 2) = D2, top, black, followed by (3, 3) = ? I'm not seeing a clear pattern in the transformations. 3. Shading: Let's try a function of (i, j) for the shading. We have 3 possible shadings: Not shaded (N), Striped (S), and Black (B). Let's assign them values: N=0, S=1, B=2. Now, let's see if we can find a function that maps (i, j) to the shading: - Position (1, 1): Not shaded (0) - Position (1, 2): Striped (1) - Position (1, 3): 

Black (2) - Position (2, 1): Black (2) - Position (2, 2): Not shaded (0) - Position (2, 3): Striped (1) - Position (3, 1): Striped (1) - Position (3, 2): Black (2) - Position (3, 3): ? I see a pattern here! If we use the function ((i + j - 2) mod 3), we get the shading (where mod 3 gives the remainder after dividing by 3): - Position (1, 1): (1 + 1 - 2) mod 3 = 0 mod 3 = 0 (Not shaded) - Position (1, 2): (1 + 2 - 2) mod 3 = 1 mod 3 = 1 (Striped) 

- Position (1, 3): (1 + 3 - 2) mod 3 = 2 mod 3 = 2 (Black) - Position (2, 1): (2 + 1 - 2) mod 3 = 1 mod 3 = 1 (Striped)... wait, this should be Black, so the function doesn't work. Let me try a different function. How about ((i + j) mod 3)? - Position (1, 1): (1 + 1) mod 3 = 2 mod 3 = 2 (Black)... no, this should be Not shaded. I'm going to change the values I assigned from the previous N=0, S=1, B=2 to a new mapping and see if 

that helps: What about this function: ((i + j) mod 3)? Let's assign N=1, S=2, B=0: - Position (1, 1): (1 + 1) mod 3 = 2 mod 3 = 2 (Striped)... no, this should be Not shaded. I'll try more mappings. What about N=2, S=0, B=1? - Position (1, 1): (1 + 1) mod 3 = 2 mod 3 = 2 (Not shaded). Yes this is what we want. - Position (1, 2): (1 + 2) mod 3 = 3 mod 3 = 0 (Striped). Yes this is what we want. - Position (1, 3): (1 + 3) mod 3 = 4 
mod 3 = 1 (Black). Yes this is what we want. - Position (2, 1): (2 + 1) mod 3 = 3 mod 3 = 0 (Striped). No, this should be Black. It's quite difficult to find a function that works for shading. But actually, I observe a pattern! If we look at the entire grid and read it row by row (so: (1, 1), (1, 2), (1, 3), (2, 1), …), the shading seems to follow the sequence: N → S → B → B → N → S → S → B → ?. Continuing this pattern, the next 

shading would be Not shaded. Actually wait let me look one more time at the triples actually specified in the problem, making sure I have the D1, D2, top, bottom, striped, black and not-shaded correctly. Let me re-check the entire problem specification one more time: Row 1: - Column 1: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. - Column 2: A diagonal line from top 

left to bottom right with a half circle at bottom end. The half circle is shaded in stripes. - Column 3: A diagonal line from bottom left to top right with a half circle at bottom end. The half circle is shaded in black. Row 2: - Column 1: A diagonal line from top left to bottom right with a half circle at bottom end. The half circle is shaded in black. - Column 2: A diagonal line from bottom left to top right with a half circle at bottom end. 

The half circle is not shaded. - Column 3: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in stripes. Row 3: - Column 1: A diagonal line from bottom left to top right with a half circle at bottom end. The half circle is shaded in stripes. - Column 2: A diagonal line from top left to bottom right with a half circle at top end. The half circle is shaded in black. - Column 3: [Empty] OK so 

I have these triples correct. Let me represent it one more time: Position (1, 1): Diagonal (bottom-left to top-right), Half-circle (top), Shading (not shaded) Position (1, 2): Diagonal (top-left to bottom-right), Half-circle (bottom), Shading (striped) Position (1, 3): Diagonal (bottom-left to top-right), Half-circle (bottom), Shading (black) Position (2, 1): Diagonal (top-left to bottom-right), Half-circle (bottom), Shading (black) Position (2, 

2): Diagonal (bottom-left to top-right), Half-circle (bottom), Shading (not shaded) Position (2, 3): Diagonal (top-left to bottom-right), Half-circle (top), Shading (striped) Position (3, 1): Diagonal (bottom-left to top-right), Half-circle (bottom), Shading (striped) Position (3, 2): Diagonal (top-left to bottom-right), Half-circle (top), Shading (black) Position (3, 3): [Empty] For the diagonal direction, there's a clear pattern: it alternates in 
both rows and columns. For Position (3, 3), it should be a diagonal from bottom-left to top-right. For the half-circle position, it's not as clear, but I'm leaning towards it being at the top, based on the patterns in Row 3 and Column 3 so far. For the shading, I've tried to find a function that maps (i, j) to the shading, but it's challenging. However, if we look at the entire grid in sequence, there seems to be a pattern of not shaded 

→ striped → black → black → not shaded → striped → striped → black → ?. Continuing this pattern, the next shading would likely be not shaded. Given all of this, I believe the empty square (Position (3, 3)) should have: - A diagonal from bottom-left to top-right - A half-circle at the top - Not shaded This matches Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. 

So I'm choosing Option B. But Wait, let me clarify: the observation I made about the pattern of shading, when reading the grid row by row, is: Not shaded → Striped → Black → Black → Not shaded → Striped → Striped → Black → ? My reasoning for the next item was 'following this sequence, the next would be Not shaded', but that doesn't account for the repetition of Black and Striped in the sequence. Let's think more 

logically. If there's a pattern in the shading, it might be cycle of 3: Not shaded → Striped → Black → Not shaded → ... But I'm seeing: - Not shaded (1, 1) - Striped (1, 2) - Black (1, 3) - Black (2, 1) (should be Not shaded if cyclic) - Not shaded (2, 2) (should be Striped if cyclic) - Striped (2, 3) (should be Black if cyclic) - Striped (3, 1) (should be Not shaded if cyclic) - Black (3, 2) (should be Striped if cyclic) - ? (3, 3) (should be 

Black if cyclic) Wait, I found it! The pattern is more like a rotation. If you read the grid in anti-clockwise direction, starting from position (1, 1), you get: (1, 1): Not shaded (1, 2): Striped (1, 3): Black (2, 3): Striped (3, 3): ? (3, 2): Black (3, 1): Striped (2, 1): Black (2, 2): Not shaded This completes a cycle: Not shaded → Striped → Black → Striped → ? → Black → Striped → Black → Not shaded. There's a gap at position (3, 3), 

but to complete the spiral, it seems like it should be Not shaded, Striped, or Black. OK I was getting confused again. Let me try taking the pattern I start with, not shaded, striped, black. Let me see if I can find a pattern. Maybe it's a matrix pattern: Row 1: [Not shaded, Striped, Black] Row 2: [Black, Not shaded, Striped] Row 3: [Striped, Black, ?] Wait, I see it. There's a cyclic pattern in the shading, row-by-row! Row 1 has a 
pattern of Not shaded → Striped → Black. Row 2 has the same pattern, but rotated to start from Black: Black → Not shaded → Striped. Row 3 starts with Striped, so the pattern is Striped → Black → Not shaded. By this reasoning, position (3, 3) should have a shading of Not shaded. Similarly, there's a cyclic pattern in the diagonal direction for each row. Row 1: Bottom-left to top-right → Top-left to bottom-right → Bottom-

left to top-right. Row 2: Top-left to bottom-right → Bottom-left to top-right → Top-left to bottom-right. Row 3: Bottom-left to top-right → Top-left to bottom-right → Bottom-left to top-right. By this reasoning, position (3, 3) should have a diagonal from bottom-left to top-right. For the half-circle position, there isn't a similar clear pattern across rows or columns. But at this point, given the 2 aspect reasoning I'm more inclined to 

think it's top than bottom. So, position (3, 3) should have: - A diagonal from bottom-left to top-right - A half-circle (Potentially at the top. Also, we know there are 3 half-circles at the top so far, and 5 at the bottom. If we aim for balance, a half-circle at the top would be 4 at the top and 5 at the bottom.) - Not shaded Matching this with the options: Option B: A diagonal line from bottom left to top right with a half circle at top end. 

The half circle is not shaded. I think the correct answer is Option B. But I realized I haven't fully convinced myself about the half-circle position. Let me take it one step at a time: 1. The last square should have a diagonal from bottom-left to top-right. This is clear from the alternating pattern in both rows and columns. 2. The last square should have a 'Not shaded' half-circle. This is clear from the cyclic pattern of shading in 

each row. 3. The half-circle position is the trickiest one. Let me check if there is a pattern row by row: (1, 1), (1, 2), (1, 3): [Top, Bottom, Bottom] (2, 1), (2, 2), (2, 3): [Bottom, Bottom, Top] (3, 1), (3, 2), (3, 3): [Bottom, Top, ?] I don't see a specific pattern. But one thing I notice is that if it's Top for position (3, 3), there will be 4 half-circles at the top and 5 at the bottom, which is closer to an even distribution. Let me try a 

column-wise approach: (1, 1), (2, 1), (3, 1): [Top, Bottom, Bottom] (1, 2), (2, 2), (3, 2): [Bottom, Bottom, Top] (1, 3), (2, 3), (3, 3): [Bottom, Top, ?] Looking at the third column, it seems like if there's a progression, it would be [Bottom, Top, Bottom]. Wait, let me go back to the approach of trying to find a function that maps (i, j) to the half-circle position. Position (1, 1): Top Position (1, 2): Bottom Position (1, 3): Bottom Position 
(2, 1): Bottom Position (2, 2): Bottom Position (2, 3): Top Position (3, 1): Bottom Position (3, 2): Top Position (3, 3): ? I don't see a clear function that directly maps (i, j) to the half-circle position. But I'm thinking there might be a relationship with the other aspects, such as the diagonal direction or shading. Let see if there's a relationship between the diagonal direction and the half-circle position: - For 'Bottom-left to top-right' 

diagonals: - Position (1, 1): Top - Position (1, 3): Bottom - Position (2, 2): Bottom - Position (3, 1): Bottom - Position (3, 3): ? Let me re-organize: Let's try to create a 3x3 grid again, with B-L to T-R meaning a diagonal from bottom-left to top-right, and T-L to B-R meaning a diagonal from top-left to bottom-right. Also, T means half-circle at the top, and B means half-circle at the bottom. And the shading is Not shaded (N), 

Striped (S), or Black (B). Row 1: [B-L to T-R, T, N] [T-L to B-R, B, S] [B-L to T-R, B, B] Row 2: [T-L to B-R, B, B] [B-L to T-R, B, N] [T-L to B-R, T, S] Row 3: [B-L to T-R, B, S] [T-L to B-R, T, B] [?] I'm having a hard time finding a consistent pattern in the half-circle position, but the trends in both row 3 and column 3 suggest the half-circle could be at the top. Oh wait a minute. This is a 3x3 grid, with 9 cells. So far we have 3 

half-circles at the top in positions (1, 1), (2, 3), and (3, 2). If the last position also has a half-circle at the top, that would be a total of 4 at the top, which is less than half of the total cells. And in fact, a well-balanced grid would have 4 half-circles at the top and 5 at the bottom, which is as close to equal as we can get with 9 cells. So, considering all the evidence, including the pattern of diagonal direction, the cyclic pattern of 

shading, and the distribution of half-circle positions for a balanced grid, I believe position (3, 3) should have: - A diagonal from bottom-left to top-right - A half-circle at the top - Not shaded Matching this with the options: Option B: A diagonal line from bottom left to top right with a half circle at top end. The half circle is not shaded. So, the correct answer is Option B. Reply: After analyzing the patterns in the 3x3 grid puzzle, I 

need to determine what belongs in the empty third row, third column position. First, let me examine the patterns for each attribute: 1. **Diagonal line direction**: Looking at both rows and columns, there's a clear alternating pattern between 'bottom left to top right' and 'top left to bottom right' diagonals. Since row 3, column 2 has a diagonal from top left to bottom right, the next position should have a diagonal from bottom left 
to top right. 2. **Shading pattern**: Each row follows a cyclic pattern of 'not shaded → striped → black': - Row 1: not shaded → striped → black - Row 2: black → not shaded → striped - Row 3: striped → black → (should be 'not shaded' to complete the pattern) 3. **Half circle position**: For the half circle placement, the pattern is less obvious, but examining row 3 so far (bottom → top), and considering that we currently 

have 3 half circles at top positions and 5 at bottom positions in the grid, a top position would create better balance. Combining these observations, the empty position should have: - A diagonal line from bottom left to top right - A half circle at the top end - The half circle should not be shaded Looking at the answer options, this matches exactly with: B Therefore, Option B is the correct answer: A diagonal line from bottom 

left to top right with a half circle at top end. The half circle is not shaded.
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Should we panic?

• Academic Integrity

– Whose evidence are we assessing?

• BIG Question

– What are we assessing?

– What will the value proposition of Higher Ed?



International Federation of Surveyors supports the 
Sustainable Development Goals

1st relevant 
SDG

2nd relevant 
SDG

3rd relevant 
SDG

The most relevant SDGs related to the presentation and theme of this session



STEP 1: SELECT HERE THE THREE MOST RELEVANT SDGs

STEP 2: COPY THE SDG INTO PREVIOUS SLIDE 


